Forfar Academy

S3 Examination  2011/2012
MATHEMATICS
Standard Grade    -    General Level
Paper 2
	Qu
	Solution
	Mark Allocation
	

	1
	£2·11 …
£2·11 × 25

£52·75
	· Identifies correct premium

· Remembers ‘per thousand’


· Answer
	3

	
	
	
	

	2
	T = D ÷ S

T = 94 ÷ 40

T = 2.35 hours

T = 2 hours 21 minutes
	· Uses correct rule and/or substitution


· Calculates correctly


· Changed to minutes
	3

	
	
	
	

	3
	(a)  
        [image: image1.png]x-axis





(b)  point plotted at (4, 3)

(c)  ½ of (6 × 2) + ½ of (6 × 5) 
        = 6 + 15
        = 21
	· Correctly plots 1 point


· Correctly plots other 2 points









· 4th point plotted correctly in relation to other 3


· Splits shape & calculates 1 part


· Calculates total area.
	2

1

2

	
	
	
	

	4
	C = π × d
C = 3·14… × 70

C = 219·91 m         (or   219·8 m )

[Answer depends on value for π used]
	· Correct rule used and/or substitution

· Correct answer
	2

	
	
	
	

	5
	Sloping side:
     = 12·5² + 14²
     = 156·25 + 196

     = 352·25

Side = √352·25

         = 18·76…

Tinsel length:
     = 25 + 18·76… + 18·76…
     = 62·5…

     = 63cm (to nearest cm)
	· 12·5

· Uses Pythagoras’ Theorem


· Finds square root




· Calculates perimeter


· Rounds answer.
	5

	
	
	
	

	6
	(a) £1·05 – 94p = 11p

(b) 94, 96, 98, 99, 99, £1·01, £1·3, £1·04, £1·05, £1·05

(99 + £1·01) ÷ 2 = £1
	· Calculates range


· Puts list in order


· Calculates median
	1
2

	
	
	
	

	7
	Week:
5 × 8 × £5·24 = £209·60

3 × 1·5× £5·24 = £23·58

Weekend:

4 × 2× £5·24 = £41·92

Total Pay:

£209·60 + £23·58 + £41·92

     = £275·10
	· Calculates regular weekly pay
· Calculates overtime



· Calculates weekend pay




· Calculates total pay
	4

	
	
	
	

	8
	(a) 
     Germany = 149 ÷ 1·39 = £107·19

     Japan = 16250 ÷ 179 = £90·78

     US = 139 ÷ 1·49 = £93·29
(b)  Japan
	· Correctly…

· …converts…

· …for each country


· Identifies cheapest
	3

1

	
	
	
	

	9
	(a) £10950 - £6600 = £4350

(b) 4350 ÷ 10950 × 100

     = 39·726…

     = 39·7 %
	· Subtracts

· Uses 10950


· Calculates


· Rounds correctly


	1
3

	
	
	
	

	10
	McMillan & Co:
     1·5% of 84000 = £1260

Gourlay & Easson:
     1% of £54000
          + £750 = £1290
McMillan & Co are cheaper.
	· Calculates cost for McMillan & Co


· Uses £54000

· Calculates cost of Gourlay & Easson


· Conclusion
	4

	
	
	
	

	11
	∠ABC = 63°

∠ACB = 58°


∠BAC = 180° - 63° - 58°
            = 59°
	· Calculates ∠ABC


· Calculates ∠ACB



· Calculates ∠BAC
	3

	
	
	
	

	12
	90 cm = 0·9m
Tan X° = O/A
Tan X° = 0·9 ÷ 6 = 0·15

X° = Tan-1 0·15 = 8·53…°

8·53…° < 9°

the ramp satisfies regulations.
	· Converts 90cm



· Uses Tan and/or substitutes


· Calculates angle


· Concludes correctly
	4

	
	
	
	


Total Marks = 44
